[ Efficiency vs vertpos |
0.2

20.18F
‘g o
2 0.16F
O -
§0.14F
[ o
£0.12
0.1F
0.08
0.06
0.04
0.02

Ratio

10 0?
TP vertr (cr%)

Efficiend

MKFIT5_T TOTd-TOW]
mkFit_TT_retrain-|
mkFit_TTold-lowpt
mkFit TT_NEWdefault_specPLess3-lowpt

fgwpt

N 0.2r
20.18
n
>0.16
>
2
90'14
3]
£0.12
(]

0.1
0.08
0.06
0.04
0.02

1Q

NN FEN RN R RERE RN R

Ratio

1.

=20 -10

Wrrr
o

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

N 0.2
> C
A.0.18F
E L
50.16
20.14F
P E
20.12F
0.1F
0.08F
0.06F
0.04F

0.02F

efticie

10

Ratio

1.1

iy

©
T

o

-

I
N

510 15 20
Sim. PV z (cm)




	Contents
	Page 1


